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理⼯英语4�·�Comprehensive�Test

Comprehensive�Exercises
亲爱的同学你好，欢迎进⼊综合测试环节，本测试共包含以下⼏种题型：

⼀、交际⽤语：5⼩题，每⼩题2分，共10分；

⼆、词汇语法：15⼩题，每⼩题2分，共30分；

三、阅读理解：2篇，每篇5⼩题，每⼩题4分，共40分；

四、写作：1篇，共20分。

本测试不限答题次数和时间，可供反复多次练习，成绩不计⼊形考。

单选题�(2.0�分)�（难易度:中）

Yes,�the�heat�is�killing�me.

Yes,�the�temperature�is�comfortable.

Yes,�the�weather�is�pretty�agreeable.

正确答案：A

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

Bring�me�a�present.

Let's�check�out.

Have�a�pleasant�trip!

正确答案：C

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

Thank�you�for�reminding�me.

You�must�be�kidding.

No�problem!�You�want�the�usual?

正确答案：C

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

It�sounds�quite�difficult.

I'm�glad�to�hear�that.

Thank�you�very�much.

正确答案：C

答案解释：暂⽆

-�What�an�awful�day!

-_________________

1.

-�I'm�leaving�for�Tibet�on�business�tomorrow.

-_________________

2.

-�Good�morning,�Susan.�Would�you�mind�going�to�get�me�a�cup�of�coffee?

-_________________

3.

-�Cheer�up�and�pay�more�attention�to�your�colleagues�and�things�will�be�much�better.

-_________________

4.
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单选题�(2.0�分)�（难易度:中）

Take�it�easy.

That's�a�good�idea.

I�don't�like�Kongfu�film.

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

by�foot

on�foot

by�walk

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

Beside

In�addition�to

In�spite�of

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

to

with

for

正确答案：A

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

wouldn't�have�gone

mustn't�have�gone

shouldn't�have�gone

正确答案：C

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

learning

to�learn

learn

-�How�about�getting�together�for�a�cartoon�movie�tonight?

-_________________What's�playing�tonight?

5.

As�there�is�no�car�now,�we�have�to�go�home�________.6.

________�language,�maths�and�history,�the�children�are�also�taught�music�and�art.7.

If�you�want�to�download�this�file,�you�need�to�connect�your�mobile�phone�_______�Internet�first.8.

With�all�this�work�on�hand,�he�________�to�the�cinema�last�night.9.

We�consider�it�no�use�________�these�figures�by�heart.10.
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正确答案：A

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

rather

much

very

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

whether

unless

whoever

正确答案：A

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

are�going

was�going

were�going

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

though

as�though

even�though

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

insist�on

devote�to

seek�out

正确答案：A

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

bought

been�bought

The�book�is�________�more�difficult�than�the�one�I�read�last�week.11.

All�students�are�eager�to�know�________�they�will�pass�the�exam�or�not.12.

Henry�said�that�either�his�father�or�his�uncle�________�to�attend�the�class�meeting.13.

They�talked�to�each�other�________�they�had�been�friends�for�years.14.

Smart�wearable�bands�should�not�imitate�but�instead�_________�their�own�unique�design.15.

Two�little�pandas�have�just�________�for�the�zoo.16.
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to�be�bought

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

for�your�thinking

of�you�to�think

of�your�thinking

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

killing;�injuring

killing;�injured

killed;�injuring

正确答案：B

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

because�she�will�be�disappointed

why�she�will�be�disappointed

that�she�will�be�disappointed

正确答案：C

答案解释：暂⽆

单选题�(2.0�分)�（难易度:中）

do�I�know

did�I�know

I�did�knew

正确答案：B

答案解释：暂⽆

综合题�(20.0�分)

单选题�(4.0�分)�（难易度:中）

It's�very�smart�________�of�such�a�terrific�idea.17.

There�was�an�car�accident�happened,�_______�16�people�and�with�more�than�23�________.18.

The�reason�why�I�plan�to�go�there�is�________�if�I�don't.19.

So�little�________�about�chemistry�that�the�lecture�was�completely�beyond�me.20.

Can�trees�talk?�Yes,�but�not�in�words.�Scientists�have�reason�to�believe�that�trees�do�communicate�(交际)�with�each

other.� Not� long� ago,� researchers� learned� some� surprising� things.� First� a� willow� tree� attacked� in� the� woods� by

caterpillars� (⽑⾍ )� changed� the� chemistry�of� its� leaves� and�made� them� taste� so� terrible� that� they� got� tired�of� the

leaves� and� stopped� eating� them.� Then� even�more� astonishing,� the� tree� sent� out� a� special� smell—a� signal� (信号 )

causing�its�neighbors�to�change�the�chemistry�of�their�own�leaves�and�make�them�less�tasty.

Communication,�of�course,�doesn't�need�to�be�in�words.�We�can�talk�to�each�other�by�smiling,�raising�our�shoulders

and�moving�our�hands.�We�know�that�birds�and�animals�use�a�whole�vocabulary�of�songs,�sounds,�and�movements.

Bees�dance�their�signals,�flying�in�certain�patterns�that�tell�other�bees�where�to�find�nectar�(花蜜)�for�honey.�So�why

shouldn't�trees�have�ways�of�sending�message?

21.

It�can�be�concluded�from�the�passage�that�caterpillars�do�not�feed�on�leaves�that�______.(1)
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are�lying�on�the�ground

have�an�unpleasant�taste

bees�don't�like

正确答案：B

答案解释：暂⽆

单选题�(4.0�分)�（难易度:中）

growing�more�branches

communicating�with�birds�and�bees

changing�its�leaf�chemistry

正确答案：C

答案解释：暂⽆

单选题�(4.0�分)�（难易度:中）

waving�its�branches

giving�off�a�special�smell

dropping�its�leaves

正确答案：B

答案解释：暂⽆

单选题�(4.0�分)�（难易度:中）

making�special�movement

touching�one�another

smelling�one�another

正确答案：A

答案解释：暂⽆

单选题�(4.0�分)�（难易度:中）

cannot�be�taken�seriously

should�no�longer�be�permitted

seems�completely�reasonable

正确答案：C

答案解释：暂⽆

The�willow�tree�described�in�the�passage�protected�itself�by�______.(2)

According�to�the�passage,�the�willow�tree�was�able�to�communicate�with�other�trees�by�______.(3)

According�to�this�passage,�bees�communicate�by�______.(4)

The�author�believes�that�the�incident�described�in�the�passage�______.(5)
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综合题�(20.0�分)

判断题�(4.0�分)�（难易度:中）

T

F

正确答案：B

答案解释：暂⽆

判断题�(4.0�分)�（难易度:中）

T

F

正确答案：A

答案解释：暂⽆

判断题�(4.0�分)�（难易度:中）

T

F

正确答案：B

答案解释：暂⽆

判断题�(4.0�分)�（难易度:中）

T

F

正确答案：A

答案解释：暂⽆

判断题�(4.0�分)�（难易度:中）

There� is� no� denying� that� students� should� learn� something� about� how� computers� work.For� people� should� have

some�basic� idea�of�how� the� things� that� they�use�do�what� they�do.�Further,� students�might�be�helped�by�a�course

that�considers�the�computer's� impact�on�society.Computer� literacy� is�not�a� form�of� literacy�(读写能⼒);� it� is�a�trade

skill.

Learning� how� to� use� a� computer� and� learning� how� to� program� one� are� two� distinct� activities.� The� competent

citizens�of�tomorrow�should�free�themselves�from�their�fear�of�computers.�But�this�is�quite�different�from�saying�that

all� ought� to� know�how� to� program�one.� Leave� that� to� people�who�have� chosen�programming� as� a� career.�While

programming�can�be�lots�of�fun,�and�while�our�society�needs�some�people�who�are�experts�at�it,�the�same�is�true�of

auto�repair�and�violin-making.

Learning�how�to�use�a�computer�is�not�difficult,�and�it�gets�easier�as�programs�become�more�“user-friendly”.�Let

us�assume�that�in�the�future�everyone�is�going�to�have�to�know�how�to�use�a�computer�to�be�a�competent�citizen.

What�does� the�phrase�“learning� to�use� a� computer”�mean?� It� sounds� like�“learning� to�drive� a� car”,� that� is,� it

sounds�as�if�there�is�some�set�of�definite�skills�that,�once�acquired,�enable�one�to�use�a�computer.

In�fact,�“learning�to�use�a�computer”�is�much�more�like�“learning�to�play�a�game”,�but�learning�the�rules�of�one

game�may�not�help�you�play�a�second�game,�whose�rules�may�not�be�the�same.�There�is�no�such�a�thing�as�teaching

someone�how�to�use�a�computer.�One�can�only�teach�people�to�use�this�or�that�program�and�generally�that�is�easily

accomplished.

22.

To� be� the� competent� citizens� of� tomorrow,� people� should� understand� that� programming� a� computer� is�more

essential�than�repairing�a�car.

(1)

In�the�second�paragraph�“auto�repair”�and�“violin-making”�are�mentioned�to�show�that�people�who�can�use

a�computer�don't�necessarily�have�to�know�computer�programming.

(2)

Learning�to�use�a�computer�is�getting�easier�all�the�time�because�programs�are�becoming�less�complicated.(3)

According� to� the� author,� the�phrase�“learning� to�use� a� computer”� (Lines� 3-4,� Para.3)�means� learning� specific

programs.

(4)

The�author's�purpose�in�writing�this�passage�is�to�explain�the�concept�of�computer�literacy.(5)
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正确答案：A

答案解释：暂⽆

综合题�(20.0�分)

单选题�(4.0�分)�（难易度:中）

Salinization.

Saline.

Irrigation.

正确答案：A

答案解释：暂⽆

单选题�(4.0�分)�（难易度:中）

It�increases�the�amount�of�salt�in�fresh�water.

It�has�damaged�much�land�in�Pakistan.

It�means�a�mixture�of�salt�and�water.

正确答案：C

答案解释：暂⽆

单选题�(4.0�分)�（难易度:中）

By�using�devices�called�“sensors”.

By�using�eight�different�pipes.

By�calculating�and�measuring�carefully.

Climate�change�has�caused�a�rise�in�sea�levels.�This�has�increased�the�amount�of�salt�in�fresh�water�used�on�coastal

farms.�As�a�result,�farmers�are�increasingly�unable�to�use�fields�close�to�the�sea.

Scientists� call� this�process�“salinization”�which�means� the�mixing�of� salt� and�water.� Salinization� is� reducing� the

world’s�irrigated�lands�by�1�to�2�percent�every�year.

But�a�farmer�in�the�Netherlands�is�now�using�a�mixture�of�sea�and�fresh�water�to�grow�healthy�and�tasty�vegetables.

Marc�Van�started�with�an�experiment.

“We�put�in�a�lot�of�plants� in�the�fields�and�then�we�put�them�in�fresh�water�and�in�sea�water�and�all�the�varieties

between�them,�and�then�we�see�which�variety�is�surviving�and�which�variety�is�dying.”

Mr.�Van�worked�on�the�project�with�scientists� from�the�Free�University�of�Amsterdam.�He�divided�a� farm� into�eight

areas.� Separate� pipes� pumped� fresh� and� sea� water,� and� a� computer� program� created� water� with� eight� levels� of

salinity.

Computerized�measuring�devices� called�“sensors”� controlled� the�water� levels� and� the� levels�of� salinity.�Mr.� Van

says�he�was�able�to�harvest�vegetables�from�most�of�the�eight�test�areas.�He�says�the�vegetables�were�smaller�than

those�grown�in�fresh�water.�But�he�says�they�also�have�more�sugar�and�salt,�so�they�taste�better.

The�farmer�grew�carrots,�cabbage�and�onions.�But�he�found�that�potatoes�grew�better�than�the�other�vegetables�in

the� combination�of� sea�and� fresh�water.�Mr.� Van� says� four� kinds�of� these�potatoes�were� recently� sent� to�Pakistan,

where� thousands� of� hectares� of� land� have� been� damaged� by� salinization.� Farmers� in� Pakistan� will� test� these

potatoes�to�see�if�they�can�be�grown�in�those�fields.

23.

What�is�preventing�farmers�from�making�full�use�of�coastal�fields?(1)

Which�of�the�following�statements�is�TRUE�about�“salinization”?(2)

How�did�Mr.�Van�control�the�levels�of�salinity�in�his�experiment?(3)
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正确答案：A

答案解释：暂⽆

单选题�(4.0�分)�（难易度:中）

Cabbage.

Potatoes.�

Onions.

正确答案：B

答案解释：暂⽆

单选题�(4.0�分)�（难易度:中）

Health.�

Technology.�

Agriculture.�

正确答案：C

答案解释：暂⽆

Which�vegetable�grew�best�in�the�combination�of�sea�and�fresh�water?(4)

In�which�column�of�a�newspaper�can�readers�find�this�article?(5)


